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B3 —2

WP TR 25 36 A R

(CPk214E 3 A RBIE)
BAERK HRFERE (K - fliAKDZ) B %
w| ks | O A R | e [ e | AR T A .
W) Hg;g) E‘fﬂt(ﬁﬁm% Bﬁiéj(,ﬁ‘f)m% bKE s HA S it

1 514, 372 506, 131 98. 4 52,270 333 293 1 23 45 62 131
2 |4 175, 394 169, 269 96.5 21,319 439 346 7 6 4 3 20
3 |FRmET 89, 035 87,438 98. 2 12,723 470 394 1 3 2 6
4 [\ 39, 981 39, 150 97.9 5,032 417 357 1 13 10 24
5 ErEiE 126, 563 120, 471 95.2 16, 304 441 374 1 12 12 25
6 [/ & ™ 115, 874 62, 085 53.6 7,316 441 350 5 8 60 11 84
[ PN i 49, 564 44, 450 89.7 7,339 579 460 2 15 19 36
8 |t T ifi 40, 054 36, 130 90. 2 4,735 461 365 1 10 2 9 22
9 | U 94,133 91, 305 97.0 13, 252 466 399 2 12 1 8 23
10 |/ 7 44, 299 41, 883 94.5 5, 398 468 362 4 41 1 18 64
11 |38 iR 34, 957 34, 499 98.7 4,313 556 361 2 13 8 11 34
12 | b & A7 7,676 7,344 95.7 745 364 278 1 2 3
13 |05 @ T 10, 671 8,432 79.0 1,152 529 391 18 9 27
14 |4 i AT 31, 543 31,226 99.0 3,661 384 327 1 2 1 4
15 [RE &6 AT 22, 609 21, 347 94.4 3,041 479 394 1 3 2 4 10
16 | 7 AT 19, 362 16, 566 85.6 2,321 417 401 1 19 23 43
17 |t 5 0T 11,978 11, 681 97.5 1,479 481 348 2 1 1 4
18 [kx B BT 4,597 4,546 98.9 682 453 414 3 1 1 5
19 & e |7 12, 190 11, 724 96.2 1,458 384 341 1 4 5
20 (% m My 26, 116 25,977 99.5 4,002 624 444 1 4 3 8

&l 1,470,968 1,371,654 93.2 168, 542 420 344 35 198 139 206 578
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BEMI13-3 KEKEEHE

k=2 k=2

1| — MBS 100fE,/me|[ 27 [MeRhU mRXEZ 0.1
2 | R AR 28 | hVU 7 v o FER 0.2
3 |H FIvAROFDILEY 0.0l 29 |[Tuexsrmmrszy 0.03
4 KR OZEDILEY 0.0005| 30 |7 EEARLL 0. 09
5 [BELUROBZEOILEY 0.01] 31 |[HAALTALFER 0.08
6 [ OZEDILEW 0.01| 32 [MHEHMOZEDILEY 1
7 |OFEKROEDLAEY 0.01| 33 [7ArI=wrgozroitsy 0.2
8 |Rflir v bW 0.05| 34 |BEROZDILEY 0.3
9 (v 7o A RO LY T v 0.01f 35 [#AKOZDILAEW 1
10 |FEEEREZE 3R R OVlAE IR RE 22 57 10| 36 [F MU TLKRORZEDILEY 200
11 | 5oRETZEOLEY 0.8 37 |~y HUEORZEDILEW 0. 05
12 19 FRXOZEDIEY 1| 38 |HEfkmA A4 200
13 | bR 0.002| 39 (BT T, TRy L (FHE) 300
14 |1, 4-VF X 0.05( 40 [ZFFEREY 500
15 [, 1-vy7ae=FL 0.02 41 [F2A A S kEiEMEAl 0.2
16 ;i;_f’;i‘; ‘;ji;i%” b 0.04| 42 |v=AzIv 0. 00001
17 |[Yr7uwxz 0.02| 43 [2-AF A VY RNLFF—/L 0. 00001
18 |FhF7mm=FL o 0.01| 44 [3EA A > FLiaiE Ml 0. 02
19 |[FUZopoxzTFL v 0.03 45 |7 = /—N3H 0. 005
20 |RoPr 0.01| 46 |HHeE (T0C) 3
21 |HEz=Eme 0.6 47 |pH 5.8-8.6
22 |7 v afFERg 0.02| 48 [mk FLH T
23 |7 ek 0.06| 49 |H% HLEC0
24 |7 ool 0.04| 50 |@pF 5 B
26 |7 mEson AR 0.1 51 |\ 2 JE
26 [RFEE 0.01
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Lk —4 KEEHHERTE

&5 HH 4 gt e e
1 |7 FEROZEDILEY 0.015mg/0LL 54 0
2 |V ROEOLEY 0.02mg/0LL T 54 0
3 |[=v i ROEOIEY 0.01mg/QLL F 54 0
4 |HEAHERREZE R 0.05mg/0LA T 54 0
5 |1, 2—Yrunxsy 0.004mg/ LA F 54 0
6 |FIrA—1, 2—YrnnT 0.04mg/0LL T 54 0
7 |1, 1, 2—FIrmnzs 0.006mg/0LL T 54 0
8 |hrxr 0.2mg/0LLF 54 0
9 |T7HNLVERY (2—F )LL) 0.1mg/0LL T 52 0
I 0.6mg/0LL 3 0
11 — — — —
12 | biEF 0.6mg/0LL T 4 0
13 |[Yrmareh=riL 0.04mg/0LL T 50 0
14 [fakraz—n 0.03mg/0LL T 50 0
15 |RH BHEE B EEO o fE LT, 1L Uk
16 |/&EEIEHE Img/0LLF 156 2
17 | DAL, =T R N 10mg/0LL 1100mg/0LL 96 0
18 |wo v R OZEDILEY) 0.01mg/0LL T 93 9
19 | dERELC 20mg/QLL T 174 20
20 |1, 1, 1—h)rmpxzi 0.3mg/0LLF 54 0
21 | AFNV—t—TF L —T)L 0.02mg/0LL 54 0
22 |[AHWE R~ T EEID SHE ) |3mg/0LL T o4 9
23 |RXFRE (TON) LT 158 0
24 |ZAFIREY 30mg/0LA 200mg/ 0Ll 97 1
25 [VREE 1EMF 268 15
26 |PH{H 7. SFRFE 268 75
27 R (G T ITHER) — 1L EEL R0 SH5| 88 57
28 |t rEME TmOD B TR B %4052, 0008 T (87 5) 53 5
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EEH3—5 EEH AR EHEE (RHEH)

= s = HIE |
1 [Fuoa 0.02] 32 0
2 |2~ (CAT) 0.003] 28 0
3 |FAUHLT 0.02] 28 0
4 |1, 3—y7vn7u~ (D—D) 0.002 6 0
5 |AEVFA 0.008[ 30 0
6 | FATY I 0.005[ 40 0
7 |Zz=beTF (MEP) 0.003] 32 0
8 |Av7uFA7 (IPT) 0.04f 11 0
9 |rom&o=,L (TPN) 0.05] 30 0
10 [Zer¥3k 0.05] 28 0
11 |27 RA(DDVP) 0.008] 28 0
12 |(7=/7 317 (BPMC) 0.03] 28 0
13 [/ =Fro7=x2 (CNP) 0.0001 4 0
14 [CNP—7I K — 4 0
15 [A72~__ =2 (BP) 0.008/ 29 0
16 |EPN 0.006/ 28 0
17 |2 0.2 32 0
18 | BAR7F (L RANL T 7 AR ) 0.005[ 4 0
19 (2, 4—vr7oe7= % Filg 0.03] 28 0
20 |R)Zuen 0.006/ 28 0
21 [7&7=—F 0.08] 39 0
22 | AVT L RA 0.001 4 0
23 |7 VR 0.03 6 0
24 |N)Zeay (DEP) 0.03] 28 0
25 |EUVX T FFH 0.002| 28 0
26 | A7 A 0.3 38 0
27 |= )T — (=) —)L) 0.004 4 0
28 |[AF 80 0.04] 28 0
I 0.3 28 0
30 |Zomxr 0.05 4 0
31 |MVIEBRAAT L 0.2 4 0
32 | Z)VhT=)L 0.2 37 0
33 |~ rmn 0.04 5 0
34 [(AETFIL 0.05] 34 0
35 | A7m=,L 0.1 6 0
36 |7V 2T 0.2] 28 0
37 [FAENL 0.008 5 0
38 |57 HLT 0.02 4 0
39 [T a3k 0.03 4 0
40 [BVTFHLT 0.02] 31 0
41 | THIKRA 0.01 4 0
42 | _ZJR (SAP) 0.1 4 0
43 RN (RAREVY) 0.08 4 0
44 | XUTFT AR 0.1 6 0
45 [A=7my 7 (MCPP) 0.005] 28 0
46 | AFNE A LT 0.03 4 0
47 | T7ra—)v 0.01 4 0
48 [H UL (NAC) 0.05| 28 0
49 |[=F 47z A A (V7 FRA, EDDP) 0.006] 28 0
50 | ooy 0.04] 12 0
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= 5 Sp - HIE |
51 |7HFAK 0.1] 38 0
52 | A7 xF Bk 0.009] 30 0
53 | 7VFIrm—)v 0.04] 28 0
54 (A7 ahnT7 (MIPC) 0.01 4 0
55 | FATZ 7R —MATF L 0.3 38 0
56 |7=/Lr7a—/)L 0.2 4 0
57 | AFHF 42 (DMTP) 0.004] 40 0
58 | B m <3R 0.04] 28 0
59 |[7waE7FR 0.04] 8 0
60 |FEVR—h 0.005 4 0
61 |7l 3R 0.09] 28 0
62 |7=okA 0.003 4 0
63 |[ThTTv 0.01 4 0
64 |X TR 0.08] 28 0
65 |~ 7a~=,L (DMTP) 0.01] 28 0
66 | AbT—h 0.05| 28 0
67 |[T7Uvk 0.005| 33 0
68 [wrr (DCMU) 0.02] 32 0
69 [T RALTFL 0.01] 28 0
70 [ZhT7HrTuvIR 0.08] 28 0
71 | 7= F A (MPP) 0.001] 30 0
72 |7 VEY—k 2 32 0
73|I (=TT A) 0.05 4 0
74 | AL 0.03] 28 0
75 | ~UL 0.02] 33 0
6 | XTI T 0.04] 4 0
77 AN 0.03 4 0
78 | AE AL —] 0.003 4 0
79 |[Z7==Fr=—F(PAP) 0.004] 28 0
80 |[77mr= 0.02] 38 0
81 |=F/FA AN 0.004] 30 0
82 |[Fu~Jv—)L 0.05] 28 0
83 |=x7uhiT 0.01] 28 0
84 |FALmr 0.8] 30 0
T e 0.2 4 0
86 |\ RILTOL AT )L 0.4] 8 0
87 |’ o) —)L 0.08] 10 0
88 |~k 0.0009 4 0
89 [TAXAR) 0.02 5 0
90 |7V At 0.5 32 0
91 |AI /XY PR 0.006] 32 0
92 |AxtEFIL 2 28 0
93 |[ARYH—,3 A b 0.03] 29 0
94 | oA )LTaL AF )L 0.3 4 0
95 |[Z7FV¥RLTTa 0.03 4 0
9% |FATHNLT 0.08] 34 0
97 |Zura)r>v—)u 0.05 6 0
98 |[vT amy 0.3 4 0
99 [eV7ux T 0.2 4 0
100 |[FUZ 5D 0.06] 29 0
101 [h7=rApm—L 0.008] 34 0
102 | 747 =)L 0.0005 0 0




